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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

1-  You might not be thinking about cholesterol yet, but high levels of cholesterol increase
yvour --—————- ol heart disease, so find out what your level is now.
1) risk 2} level 3) strength 4) exposure

2-  With the ——-- of the Internet, working from home has become a real phenomenon.
1} demonstration 2) credibility 3) advent 4) dexterity

3-  The teacher was gratified to see two older students -----—-- to settle the playground
dispute between a number of third and fourth graders.
1) raise 2) encourage 3) promote 4) intervene

4-  Even though the unemployment rate continues to --—---- . voters are still unhappy with
the president’s economic plan.
1) restore 2) abandon 3) abate 4) delay

5-  Her maudlin display of tears at work did not impress her new boss, who felt she should
try to conirol her --—-—---- 5
1) emotions 2) secrets 3) errors 4) restrictions

6-  The heavy rain did not -—------- -, 50 they cancelled their camping trip.
1) emerge 2) evaporate 3) subside 4) collapse

7-  Whitney is ——---—- about her shoes, arranging them on a shelf in a specific order, each
pair evenly spaced.
1} spectacular 2) fastidious 3) conscientious 4) conventional

8-  This agreement is very -——--— —- and open to various interpretations.
1) intentional 2) diverse 3) superficial 4) ambiguous

9- Because our instructor was so unclear, 1 had to continually ask him t0 -——-ae-- and
repeat what he was saying.
1) justify 2) clanfy 3) emerge 4) improvise

10- Because of the chels ---—- -- cooking style, his food is easily identified in a taste test.
1) experimental 2) flexible 3) distinct 4) constant

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), {3), or (4) best fits
ench space. Then mark the correct choice on your answer sheet.

Remembering the past 1s an integral part of human existence. Without a good memory,
yvou would not be able to drive to work. hold a meaningful conversation with your

children, (11} ----—--- a book or prepare a meal.

Memory has fascinated humans since (12) =-=------ . Plato famously compared our
memory to a wax tablet that 15 blank at birth (13) —--e-ee- on the impression of the
events from our life, Only in the past hundred vears, though, (14) ——-—-— systematic

objective techniques that have enabled us to study our recollections of the past with
scientific accuracy and reproducibility. These range from laboratory tests of our ability
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to remember verbal and visual materials (15) -—------ more recent brain-imaging
approaches.
11- 1) then read 2) reading 3) to read 4) read
12- 1) ancient times 2) ancient time 3)ume of ancient  4) times of ancient
13- 1)slowing taking  2) to slowly take 3) and slowly takes 4} that slowly takes
14- 1) psychologists have developed 2) have psychologists developed
3) with psychologists developing 4) for psychologists to develop
15- 1) with 2) from 3)in 4) 10

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
cheice (1), (2), (3), or {4). Then mark the correci choice on your answer sheet

PASSAGE I:

In the traditional music of Iran and Central Asia, instruments play rhythmic patterns that
evoke conventional poetic meters. Here the meters are often quantitative. like those of
ancient Greek poetry for which such terms as trochee and ramb were first devised. For an
ancient Greek poet, the basic trochaic foot was the sequence long-short-long-short. The
quantitative meters used in Persian poetry are different from those used m ancient Greek or,
for that matter, in classical Arabic poetry. The Persian meters were adapted by court poets
who composed verses in Turkic languages, such as Ottoman Turkish and Azerbaijani. and
for that reason the same musical resources could be used for singing poetry in any of these
languages. A system of syllables devised by Arabic prosodists for representing quantitative
meters was successfully applied to Persian and Turkic poetry, and music theonsts writing in
Arabic developed a second system of syllables to represent musical rhythms.

16- What is the passage mainly about?

1) Turkic languages

2) Ancient Greek poetry

3) Classical Arabic poetry

4) Quantitative meters used i Persian poetry
17-  What does the word “evoke” in line 2 mean?

1) Infer 2) Shift 3) Elicit 4) Adjust
18- What does the word “those” in line 2 refer to?

1) Meters 2) Patterns

3) Terms 4} Instruments

19- Which of the following statements is TRUE about the Persian meters?
1) They are similar to those of both ancient Greek and classical Arabic poetry.
2) They are different from those of both ancient Greek and classical Arabic poetry.
3) They are different from ancient Greek meters but similar to those of classical Arabic
poelry.
4) They are similar to ancient Greek meters but different from those of classical Arabic
poetry.
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20- Who developed a system of syllables for representing quantitative meters used in
Persian and Turkic poetry ?

1) Arabic prosodists 2) Greek music theorists
3) Persian prosodists 4) Turkic music theorists
PASSAGE 2:

The first basis of Handel’s style was the north German music of his childhood, but it was
soon completely overlaid by the Italian style that he acquired in early adulthood during his
travels i Ttaly. The influences of Arcangelo Corelli and Alessandro Scarlatti can be
detected in his work to the end of his long life, and the French style of Jean-Baptiste Lully
and, later, that of the English composer Henry Purcell are also evident. There 1s a robustness
in Handel’s later music that gives it a very English quality. Above all, his music is
eminently vocal. His choral writing is remarkable for the manner in which it interweaves
massive but simple harmonic passages with contrapuntal sections of great ingenuity, the
whole most effectively illustrating the text. His writing for the solo voice is outstanding in
its suitability for the medium. Handel had a striking ability to depict human character
musically in a single scene or aria, a gift used with great dramatic power in his operas and
oratorios.,

Handel had a lifelong attachment to the theatre—even his oratorios were usually
performed on the stage rather than in church. Like other composers of his time, he accepted
the conventions of Italian opera, with its employment of male sopranos and contraltos and
the formalized sequences of stylized recitatives and anas upon which opera seria was
constructed. Using these conventions, he produced Italian operas, such as Giulio Cesare
(1724), Sosarme (1732), and Alcina (1735), which still make impressive stage spectacles.

21-  What is the first paragraph mainly abom?

1) Handel’s choral writing 2) Handel's biography
3) Handel’s oratorios 4) Handel’s style
22-  What does the word “it” in paragraph 1 refer to?
1) Robustness 2) Quality
3) Music 4) Style
23-  Which style was Handel’s music NOT affected by?
1) Italian 2) French
3) Russian 4) English
24- What does the word “depict™ in paragraph 1 mean?
1) Describe 2) Admire 3) Predict 4) Refine
25-  Handel produced all the following operas EXCEPT ———--- —.
1) Giulio Cesare 2) Sosarme

3) Marsia deluso 4) Alcina
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PASSAGE 3:

Ever since the mid-nineteenth century when flamenco music emerged as a public
entertainment genre, it has meant different things to different people. Depending on
audience and context, it has been party music for slumming Andalusian aristocrats, an
exotic spectacle for tounists and outsiders, a private fiesta entertainment for gypsies, and,
last but not least. an art form cultivated and cherished by serious music-lovers.

Today, as before, many people enjoy—at some level—the “passion™ and expressivity of
flamenco music without understanding it in technical terms. Although there may be no point
in belittling this rather uninformed sort of enjoyment. there is also no doubt that one’s
appreciation of flamenco can acquire an added dimension of depth and richness through
understandimg of some of its basic formal aspects, Furthermore, with its formal complexity,
its idiosyncratic combination of European and Middle Eastern—derived features, and its
distinctive harmonic, rhythmic, and stylistic conventions, flamenco music offers particular
interest to a transnational study of such musical parameters. Below we will examine some
general background data on flamenco style and structure, and look mn detail at a single song
form called soleares, and a representative performance of it.

26- The first paragraph provides an answer to all the following questions EXCEPT —---—-—-,
1) when flamenco music emerged
2) who flamenco music is enjoved by
3) who flamenco music was developed by
4) what flamenco music means to different people
27-  Which of the following do we undersiand from the passage?
1) It 15 better to belittle flamenco music because of its complex formal aspects.
2) Despite its complexity, everyone understands flamenco music.
3) Many people enjoy tlamenco music because of its simplicity.
4) Flamenco music 1s a good topic of transnational research.
28- What does the word “its” in paragraph 2 mean?
1) Dimension 2) Flamenco
3) Richness 4) Depth
29- Which word in the passage is closest in meaning to the word “idiosyneratic™ in
paragraph 27
1) Distinctive 2) Slumming
3) Stylistic 4) Exotic
30- The paragraphs following the passage will look at all the issues below EXCEPT --———,
1) a single song form called soleares
2) a representative performance of flamenco
3) some data on flamenco style and structure
4) the Middle Eastern-derived features of flamenco
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